S 2AEEAG (WROTEEER) OERER
REHFNZDNT

—fx AR RWEE)

R BeER

R R4

M /T T - I - A - KB

AR - fREpl
X3 8
(i #2) & X

D EB0 ()

]

dk




=

(1) 220C y=loe.2

IIEINT B, e <d kD, ed
kb, l=log et <log2 f>T, log 21k 1 LhKREW.
(2) FEWz ITHULT, fl(z) =2%1og,. 2 —

hE&b,

2, f”( r) = 2"(log, :
F(z) >oaz:w f(a

2)2, Z
(¢) RIS B, 7=,

1'(2) = 4log, 2~ 2 = 4(log, 2 - 3)
Y5, (1) &Y, [(2)>0. MEED 222T fllz) >0 %45, Hs
T.x 22T fla) ITHEINT 5.
. i _ . N 2%
(8) 2 =382>27=38 kb, >3 PRI Z>1 WIL
210(s 0) % AT, 2 > 210, T, % 0% thib
10 25 2.-10+12 10
3 B — ==y T o
3 3 b Tk
EEETL, |
/(%U):Q"?I—Q-g<4
BlEXD. 4 ii O ko RE W,

4) 7< ? CHER. (2) 0,222 T f(z) ZEMTBOT, f(r) <
S 3) &0, f(m) < f(R) <4 HoT 41 f(r) KHAREWN

(1) f'(x)=—sinz(2cosax+1). 2N XD, ROEHKEEBS.
z [0]--- %r .
@0l —=101+10
f@ 3| N]| 2]/
77 7 OEEE LS.
2) AEA fa)=g@) 202 S 7 QOFEATHRNT, 2 =2 &
r=2r%2@b.a<f &£V,
T 3
o= T B= TT
(3)

g(x) =sinz(2cosx —1). ZN&D, ROBREEEFS.



 [Q|=x % T
g@) |0+ (0| = |0
glz) |2| 2|4 | N\ |0

a<z<BITBWVWT0< fla)<gla) £, RKOBEEE V 552

3
[ Ydr —7 / f(2)dr
vV

L5 IhERRRELT

(3] (1) E 2 AOAB 0RBLURETHS. FIZK.
(2) P@@F@
$(4,2) +H(1,3) = (s +1.25+8t)  eeeeenns ®
ERTB, kot

h=(4ds+1—2)>+ (25 + 3t — 5)% = 205> + 20st — 36s + 10¢° — 34¢ + 29.

72720, s5.t1ds20.t20.s+t=1 OEEZEL.
(3) h = 10t® +2(10s — 17)t + 205> —3F9+79 LT . hztD2

m@ﬁa%zéaz@¢77®ﬁﬁ®rmﬂ@~4fwwq1%0

;—0(17—1[15) = _]l—[r}—_s =g

THE. HoT. 0<t<1—sZBVWThiZt=1—-5s DL EDATE
MEZEB. BLEED 0SsZ11IZHL T,
m(s) = (45 + (1 —35) —2)2+ (28 +3(1 —5) — 5> =105 — 25+ 5
(4) s,tDs520,t20.s5+t21 OEFAZE L ED h OFR/NME
2, 0S5 s S 11285 ms) OFME my ITFLW. 05521128
WT

1. 49
???(r‘j) — 10(5 = m) 1= m
£0.mpg=3 THY, TNEEXS 5 iF s =

f—1l—sDEE h EMERLBOT, 1= &
13 29

10710

LCHs (3) &0,
kXD, @55

THdILDbrd



